8 2X
& C mf
w
A_ AL j -
JL
9

HAMMOCK, 3-sits

MONTERINGSANVISNING - ASSEMBLY INSTRUCTIONS
MONTAGE - MONTAGEANLEITUNG
KASAUSOHJEET

10

2X

www.edenwood.se

EDEN WOOD

SWEDEN AB

www.edenwood.se



A =4x G =4x | = 4x
Kombiskruv Vagnsbult, insex Vingmutter, M8
A N
@ ( O PULTTTTT T \
\/
M7,L =60 mm M8, L = 65 mm
[
- _ J=12x
B=2x H = 4x Bricka, M8
@ ( RAARRRRRAALAANY AT
Mé, L =50 mm M8,L=75 mm N—~
C=2x p=1x N = 8x Mz 3
@ ( [ARRAARRRARRAARNN ( IRRAARRRAARRRRARINN Sargsprint 12x30 mm Sur_gs:rint]0x30 mm
M6, L =26 mm M6, L =45 mm O
D=1x L=30 mm
@ ( HRRRAARRAAREA R ARRARRAARRARRAAY
K= 5X L=2x
M6 L= 80 mm Islagsmutter, M6  Islagsmutter, M8  Insexnyckel, 4/5 B
E=2x Li\i’jgj [é\ij"/ljy H
@ ( [IRARRRAARRRA AR AR AR AR AR AR
M6, L =90 mm
0=2x
Kombiskruv 7x90 mm
@ ( IR
L=90 mm
| X=2x
Ror
R=2x V=2x
Lankar Vinkel @
S=2x T=4x
Ficider S-krok
W =4x
Plugg
n@m N
A — 4
U=2x
Hasp
Y = 6x n
Skruvégla
N—’

@lIllIlllllI||ll||ll|||l|||III||Il|||l|||ll|||l|||ll|||ll

2

WM—:
e s

2X
1 J G
Vo r-mm:to
—B%e—-) —| T =, &=— °»
o e
I D—::—Tm
e










